Test Booklet Code & No.

YY1 IS T . B
Paper-II1I

COMMERCE

Signature and Name of Invigilator Seat No.
1. (Signature) .....ccccceevvvvvvvvvieeeeeeeeeeeeeeenen. (In figures as in Admit Card)
(NAME) ..o SEAt NO. ..cveviieieieieeeeeee e
2. (SIignature) .......cceeveeeevveeeeeeereeeereeeene (In words)
(NAME) ..veveveveeeeeieieeie et OMR Sheet No.
MAY - 508316 (To be filled by the Candidate)
Time Allowed : 2% Hours] [Maximum Marks : 150
Number of Pages in this Booklet : 40 Number of Questions in this Booklet : 75
Instructions for the Candidates feramentardt HETAr=AT T
1. Write your Seat No. and OMR Sheet No. in the space provided 1. qfemeff 31T‘3|T*|T ST U a1 W AT HIY=ATd fergra.
on the top of this page. : o for 5
2. This paper consists of 75 objective type questions. Each question 5
will carry two marks. All questions of Paper-ITI will be compulsory, 2. TR JEAUCAhT 75 TgUART TTH e, Tk T aﬁ Rl
covering entire syllabus (including all electives, without options). 3TTed. I1 YIAUIhdiel @d g9+ Srefan sifard o1, 9 a9
3. At the commencement of examination, the question booklet %WW@TW STATEEHATER ST SR
will be given to the student. In the first 5 minutes, you are f ; Forep foreft <
requested to open the booklet and compulsorily examine it as 3. tlﬁaﬂ‘gia RIS { SELE 5
follows : TS S0 e TRTUToh] SHSH @eicl ST SToRd T
@) To have access to the Question Booklet, tear off the EREZIGH
paper seal on the edge of this cover page. Do not accept ) YT SHSTITEE YT elaeel Hiel SuSE.
a booklet without sticker-seal or open booklet. ot B Yo Ay R
(i) Tally the number of pages and number of questions et fepan <fic EES
in the booklet with the information printed on the (i) UfECHT USSTeR TG SheaTHHTOT Ygulreh el TaRUT Uss
cover page. Faulty booklets due to missing pages/ aﬁag@qﬂﬁﬁawmmw
questions or questions repeated or not in serial HH TG /RE ST /T W
order or any other discrepancy should not be E@' . W
accepted and correct booklet should be obtained U S feha ERl @ JrEeret ‘g’ﬁq‘ YTaT>TehT
from the invigilator within the period of 5 minutes. geardre 5 faferas wHasrehen wa 1 gad
Afterwards, neither the Question Booklet will be R PG A ST, AT WITalraht e
replaced nor any extra time will be given. The same T mm T A
may please be noted. ‘l'lﬂ' . S i ?
(@ii) After this verification is over, the OMR Sheet Number femmeatt =ﬁa‘ ‘€€I'I"=ﬁ .
should be entered on this Test Booklet. Gii) TOATHN T TSATEA Ulgedald JIAUTTH T
4. Each question has four alternative responses marked (A), (B), 3. 7. 3TR. ST STeh=n TeR ferer.

(C) and (D). You have to darken the circle as indicated below on
the correct response against each item.

4. T FIAIE! (A), (B), (C) 3101 (D) 3191 =R fashed s feett

Example : where (C) is the correct resi)onse. TR I AT ST AT et SRy 3wl
ONON NO " O & e
I/ : R(C) ® I W w.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place e
other 1.;ha.n in the c1rqle in 'the'OMR Sheet, it will not be evaluated. 5. TR T IW 3‘\1@ AT, mm

6. Read instructions given inside carefully. TR A T AT A A

7. Rough Work is to be done at the end of this booklet. T :

8. If you write your Name, Seat Number, Phone Number or put 6. 31T feie ng[ fE; SBSITTh TN
any mark on any part of the OMR Sheet, except for the space 7. EESEIECa ] Sgeel o =1 IR heel ShTH .
allotted for the relevant entries, which may disclose your 8. S ST STHAR, T G Hered fahmon safelits s Hiset
identity, or use abusive language or employ any other unfair AT, ATHA ShHTS, I R fehan S1ic3 Yt 3791 hIwiel g;
means, you will render yourself liable to disqualification. EﬁﬁFﬁ M@ ST G ST TS TR feha St

9. You have to return original OMR Sheet to the invigilator at the STTeTs e Teraeaten THaT STar ST I
end of the examination compulsorily and must not carry it with 9. e U E faaneaq 1. 1. 3TN, SAALIehT THaeTehiehs
you outside the Examination Hall.' You are, however, allowed T T ST T ?Iﬂ?i JyTaRERT a?nzq AR, SAAREET
to carry the Test Booklet and duplicate copy of OMR Sheet on o W SATTeATEeR I e WarT ST,
conclusion of examination. P A

10. Use only Blue/Black Ball point pen. 10. fih el e Wi 1T T l“ﬂl 1T,

11. Use of any calculator or log table, etc., is prohibited. 11. oh CToRIeTeY T eI "ét

12. There is no negative marking for incorrect answers. 12. W IS 0T shutd el SATOTR T,




MAY - 50316/I11—B



MAY - 50316/I11—B

COMMERCE
Paper 111

TSy
gyAutrent 111

Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This paper contains Seventy Five (75) multiple choice questions. Each
question carrying Two (2) marks. Attempt All questions.

AT : A1 GRAUAh THY Ueew (75) Jgaarl v ol oTRd. Woid Jeen g (2)

U Sed. @d U G

Which of the techniques is not

included in marketing control ?
(A) ABC Analysis

(B) Marketing Audit

(C) Sales Analysis

(D) Market Share Analysis

What does green marketing imply ?

(A) It implies marketing of only

green coloured products

(B) It implies marketing of safe and

eco-friendly products

(C) It implies complete ban on

chemical products

(D) It implies punishing factory

owners

FIUG T T TI9oH v St g
& ?

(A) &1, 9, & forwerom

(B) foraum sfeher

(C) fasht fagerem

(D) SSIReHEER ol fogeioon

fetem fagumrn nifyrad = R 2

(A) B Taqom e fetem T Scea™
faque gefad
(B) & fauvm gIfera & arareRomet

oo

Hatyd I faque gafod

(C) © Torque T Scareren |yl
TS FeAferd
(D) T fauoM 3EmT et TSt gatad

[P.T.O.



Which ‘P’ is more sensitive in

marketing ?

(A) Product

(B) Price

(C) Promotion

(D) Place

When any company of one country
desires to capture the market of
another country on some reasonable
and political terms, it is termed

aS e .

(A) Multiplex Marketing

(B) Mega-marketing

(C) Re-marketing

(D) Mini-marketing

MAY - 50316/I11—B
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(A) IEA (Product)
(B) &= (Price)

(C) =& (Promotion)

(D) *Is (Place)
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Psycho-analytic theory was

introduced by .........ccccee..... .
(A) T. Vebler
(B) S. Freud
(C) Festinger

(D) P. Kotler

Which of the following is marketing

research method ?
(A) Observation
(B) Questionnaire
(C) Interview

(D) Schedule

Which of the following is right kind

of label of a product ?
(A) Sales label

(B) Purchase label
(C) Competitor’s label

(D) Brand label
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Which statement is not true ?

(A) Cyber Marketing and E-

marketing are the same

(B) E-marketing is one of the

options of direct marketing

(C) E-marketing is applicable to

services only

(D) E-marketing offers high

convenience reliability and

speed

What is market environment ?

(A) Micro-environment

(B) Macro-environment

(C) Cultural environment

(D) Micro- and Macro-environment

8.
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g faum ® 9 @ ?

(A) FTISI HIeha[T 0T S-HTehel T § o

SHATd

(B) $-HIhIT & UL HIhSITEl Ueh
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10. Which of the following is not method

11.

12.

of selling price ?

(A) Marginal cost pricing method
(B) Cost plus pricing method

(C) Break-even pricing method
(D) First-in-first-out pricing method
T-group training is also called as :
(A) Management development
(B) Employment empowerment
(C) Sensitivity training

(D) Team building

Graphic-Rating Scale is a method

of :

(A) Performance Appraisal
(B) Wage Payment

(C) Participative Management

(D) Training

10. @ikl whivrt fasnt A=

11.

12.
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(B) =99 3ifyesr fomaausd

(C) T THhI-drel fradgga
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(A) FIEIYH Toaehtd

(B) TSR HacATho]

(C) TogTcHeE FRTeT
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ey AT SO0 ¥ T
Tgd TR
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13.

14.

Joint Management Council is a form

Of woeeiieiiinen, .

(A) Industrial Relation

(B) Trade Union

(C) Workers’ Participation in

Management

(D) Negotiation

To calculate the no. of workers
required for various jobs with
reference to a planned output is

called :

(A) Workload Analysis

(B) Workforce Analysis

(C) Job Analysis

(D) Prediction

13.

14.

MAY - 50316/I11—B

T ERATH HE@ § -
I 3T

(A) e

(B) #fteh &H

(C) SFRE HAEAIA FEHN
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15.

16.

Finding out the abilities or skills of

employees required to do a job

efficiently is called :

(A) Job description

(B) Job specification

(C) Job analysis

(D) Job evaluation

Which function is not included in

staffing ?

(A) Transfer

(B) Recruitment

(C) Induction and Orientation

(D) Organisation, Planning and

Development

15.

16.
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17.

18.

In the Factories Act no. of workers
is permitted to work for more than

hours in a day.

(A) 10

(B) 8

(C) 24

D) 9

Which among the following

allowances is paid to employees in
order to enable them to meet the
increasing price of essential

commodities ?

(A) Bonus

(B) Rent allowance

(C) Increment in salary

(D) Dearness allowance

17.

18.
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THviAe ((FRETHE) HIATTER

HIUCATE SHTTRIAT <oy

AMETIRIT ST hTH R0 O

T

(A) 10
(B) 8
(C) 24

D) 9

STATAYIH T el fohAd! AT
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(A) 99

(B) wre

(C) Tt

(D) HerTE
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19.

20.

Remuneration to blue collar workers

iscalled ....ccceeuveen.. .

(A) Wage

(B) Salary

(C) Compensation

(D) Payment

The minimum wage rate could be

subject to revision of intervals not

exceeding ................ .

(A) 2 years

(B) 4 years

(C) 5 years

(D) 10 years

MAY - 50316/I11—B

19. =i ST S0 o= R THeRT

(A) A8

(B) o

(C) HeEen

(D) "™

20. o A <X & QAT 21 ¥ehalld Wy

(A) 2 T

(B) 4 9%

(C) 5 I
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21.

22.

In incentive payment plan

a worker’s pay is determined

o))/ .

(A) Management

(B) Performance

(C) Seniority

(D) Profits

In a model grievance procedure, the

supervisor has to respond against

the grievance within ................ .

(A) 2 days

(B) 3 days

(C) 5 days

(D) 7 days

MAY - 50316/I11—B

Uk dad FoHEE hIITE d9dd §

(A) FIEAIT

(B) g

(C) afssa

(A) 2 feagren

(B) 3 feagr=n

(C) 5 feagr=n

D) 7 feagr=n
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23. 360° feedback involves appraisals | 23  360° YoM aiq TeIHTIT HIUGR
by : 2
(A) Subordinates - C .
(A) I3 HHANRI
(B) Line manager
(B) 9rgest/ AT HawdTIeh
(C) Superiors
(C) a3 =
(D) Any one who is directly in
D) TeIHU=A YA HIehidial FHuiel
contact with appraiser ®) =
24. Which among the following methods | 24. wTelteiier! ST STERTad HIHATIST
is latest method of performance
IO 9gd SR 2
appraisal ?
(A) Confidential report (&)
(B) Essay evaluation (B) e T
(C) Critical incident techniques
(C) w2 Tafhcadhasd
(D) 360° degree and assessment
centre (D) 360 TS ST FeAHA s
13 [P.T.O.



25.

26.

27.

The Payment of Gratuity Act was

passed in ................... .
(A) 1948
(B) 1961
(C) 1972
(D) 1965

are also known as

...................

Transnational Corporations (TNCs).
(A) Joint Ventures
(B) Foreign Institutions

(C) Multinational Corporations

(MNCs)
(D) Global Firm

is not the agreement
of World Trade Organisation
(W.T.O.).

(A) Agreement on Agriculture
(B) Agreement on TRIPS
(C) TRIMS

(D) Agreement on Industry

25.

26.

27.
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U=l (wefiE) HrR
HATAT.

(A) 1948

(B) 1961

(C) 1972

(D) 1965

T e T s

TEUTAa.
(A) TgF ITHA
(B) TS T

(C) wgueer e
(D) SIfder T

Bl SIFTdeh ST Fee= ik

T

AW a

IE!

(A) Hdch hi

fa o

(B) CrHiaoFeh shilk

(C) <™

(D) JAMMIIh IR
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28.

29.

American Depository Receipts (ADR)

are denominated in .................. .

(A) U. S. Dollar

(B) Francs

(C) Lira

(D) Euro

...................... is for those instruments

which are synthetic financial

products derived from the real assets

or stocks or commodities.

(A) Spot market

(B) Derivative market

(C) Future market

(D) Forward market

28.

29.
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(A) g TH. =R
(B) el

(C) ferm

D) Ju

Y
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T ATerETl o fohal &

TR | FHg o< Scae drem

(A) TSILETSR

(B) HIfYdas

(C) dMESENR

(D) HRISANTR
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31.

.................... is not the condition under

future contracts.

(A) Delivery is necessary

(B) Price is known in advance

(C) The risk is borne both by buyers

and sellers

(D) Payment is made on the spot

is a joint collaboration in

....................

the field

of manufacturing,
processing and marketing by two or

more countries.

(A)

Joint venture

(B) MNCs

(C) Mergers and Acquisitions

(D) Foreign Technical Collabo-

rations

31.

MAY - 50316/I11—B

(B) forma e wfed s/

(C) shar & fashean ® T G *ard

(D) RO doSdie shell Sl

M forar sifyer v =i SoareH,
Tishan 3 fauque gEmmeie T Teanmy

(A) TIF IUHHA

(B) sgusE fH

(C) foefertor 9 |dRA
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32. FIIs must initially registered with | 32. wWeF Tqaus TEAM A=A VMW
--------------------- On the basis Of their Hl‘lqlql{lwl i‘:.lqu* J‘iswlwl '.?iqui\lwl
registration with the regulatory SRR SIGET i g et
organisation for the stock market in

8 Y.
their country of incorporation.
(A) 3. . 3T9.
(A) RBI
(B) &sit
(B) SEBI
. , (C) ®RA TTeHe THRH ae (T
(C) Foreign Investment Promotion
Board (FIPB) o @ )
(D) Controller of Capital Investment (D) ﬂiiiﬂlﬁl( ATh HUled geeede (M.
(CCI) . ™)
33. The NAFTA commenced operations | 33. hdrd E1 At YT g&
from ...cocoevneeennnt. ) T,
(A) January 1994 (A) STt 1994
(B) November 1994 (B) -eger 1994
(C) 1990 (C) 1990
(D) June 1997 (D) A 1997
17 [P.T.O.



34. The ASEAN includes Brunies,

35.

Indonesia, Malaysia, Philippines,
Singapore, Thailand, Vietnam

Myanmar and ................... .

(A) Bangladesh

(B) Pakistan

(C) China

(D) Cambodia

coordinates and monitor

......................

the implementation of SAARC

programmes.

(A) Council of Ministers of SAARC

(B) Standing Committee of SAARC

(C) SAARC Secretariat

(D) Programming Committee of

SAARC

MAY - 50316/I11—B

34. FFH A WeeAd AN, TEmE,

35.

feUeA™, =AER ST
el HHORT  BRN
(A) ST

(B) TIfeR&I™

(C) =&

(D) HeEr

HTeh =1 SHTHHHAT STHASSTAUI TH

(o

(C) Hr=h

~

9 Yheue

(D) Hrhel kY AiHdr
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36. Current account convertibility | 36 uRdren =] W= TREdEE ThaT
process was completed by ................ | L T ot el
in India.
(A) M= 1995
(A) August 1995
(B) STHeRt 1994
(B) January 1994
(C) 17 1993
(C) June 1993
(D) et 1991
(D) July 1991
37. Chairman of Committee on Capital 87. SIS T WA= A
Account was ......ccccceeee. . g e
(A) S. S. Tarapore (A) TH. TH dRUR
(B) Y. V. Reddi B) =@ f&= i
(C) Kelkar (C) HoHT
(D) Raghuram Rajan (D) TIH T
19 [P.T.O.



38.

39.

Foreign Exchange Rate is

determined by demand for and
supply of foreign exchange in the

market, according to ..................... .
(A) Mint Parity Theory

(B) Purchasing Power Parity Theory
(C) Balance of Payments Theory
(D) Forex Market

The Committee on Capital Account
Convertibility laid down three

preconditions :

fiscal consolidation

@)
(z1)) a mandated inflation target

Strengthening of the financial

sector

(B)

Reducing current account

deficit

©)

Strengthening industrial sector

(D) 8% growth of G.D.P.

38.

39.

MAY - 50316/I11—B

o o

e} N
Ylenld deild [dlA

SRS ARTUT & qarel drered e

09 <L B IR AT

o~ ~

(A) 2w fafq

79 <X fagm

(B) ¥R godal g

(C) ST HEeR dies oG

(D) WhF T dNR

TEad T IRe-radl S i geremd

.
.
HiEeA ¢

(i) TSThINE ThiAH

(i) T HIE S S

fa SN

(A) o= &Ten Hsfed heu
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(C) WENfiTh &=ma ARl
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40. Physical delivery of foreign | 40. W& e Hifds deEo g o
exchange has to take place in case TSRS SEvIh 3.
Of v .
(A) TR
(A) Spot market
(B) 3w
(B) Option market
(C) 9™
(C) Future market
D) wraE
(D) Forward market @)
41. Which of the following receipts from | 41. @eficident IAAEA fHe3UR FIv 3cq—
agricultural operations is chargeable FAE R ?
to tax ?
A) THM deEdd SEAE fHeum
(A) Land situated in Andaman (&) ¥ «
Island used for agricultural NERIGRERER !
operations
(B) i&Tga sierericl SHAqe fHesum
(B) Land situated in Lakshadweep
él&"ilQlHﬁé 3~
Island used for agricultural
operations (C) g Jefie S fHem
C) Land situated in Ladakh Regi - 5
(C) Land situated in Lada egion
used for agricultural operations
. o oo o a
(D) Land situated in Sri Lanka used (D) A1 feord WA R
for agricultural operations Qﬁr—ﬁ'qwﬁ 394
21 [P.T.O.



42.

43.

Which of the following companies is
not an Indian Company, as per

Income Tax Act, 1961 ?

(A) Tata Motors Ltd.

(B) Vodafone India Ltd.

(C) Branch of Citi Bank NA

(D) Life Insurance Corporation of
India established under LIC

Act, 1956

The maximum amount on which
income tax is not chargeable for
A.Y. 2013-14 in case of a cooperative

society is :

(A) % 2,50,000

(B) ¥ 10,000

(C) % 1,00,000

(D) Nil

42.

43.

MAY - 50316/I11—B

EoiTeTueh! ShIVCAT ShU=AT STEERY ShTIa

Y WA U= AR ?

(A) 2= |red fa.

(B) ®IemwA sfear fa.

(C) T =it YA e

(D) YR fomn fm (1956 =1 9RA=

fom 7\ FEETETE )

F SMHRUT I8 2013-14 =1 HeHld

TehRl T ST Hod STl At

ARl Th 3R
(A) ¥ 2,50,000
(B) T 10,000

(C) ¥ 1,00,000

(D) T
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44. Minor as per Income Tax Act means

45.

an individual who has not completed

the age of ..................

(A) 15

(B) 18

C) 21

(D) 25

X is entitled to children education

allowance of ¥ 200 p.m. for 3

children, including a twin. The

exempt amount is :

(A) % 7,200

(B) ¥ 2,400

(C) T 4,800

(D) X 3,600

MAY - 50316/I11—B

44. AFF HFATY A K TGN ST

45.

(B) 18

(C) 21

(D) 25

‘o1" o T A Henieh T (TR Tk
o) T 200 i wrE foreror s fhesd

AR, HEE ST SATATHO

(A) ¥ 7,200

(B) ¥ 2,400

(C) ¥ 4,800

(D) % 3,600

23
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46. Rates of tax deduction at source from

47.

payment to non-residents are given

by :

(A) Income Tax Act, 1961

(B) Annual Finance Act

(C) Central Board of Direct Taxes

(D) Finance Minister of India

Rebate u/s 87A is available to an

individual whose total income is

below ...coeueveeeeeaanns .

(A) % 2,50,000

(B) ¥ 3,00,000

(C) % 5,00,000

(D) % 10,00,000

MAY - 50316/I11—B

46. SFETE SHRAT SUaTd AV TEHHTHET

47.

S Y HUEE T R0 Sferd ?

(A) IR IS 1961

o (a)

(B) aiftier foxia e

(C) T YHTH HSB

(D) wRare 7

FoTH 87A < IEe TH3 A IS LU

(A) % 2,50,000

(B) % 3,00,000

(C) % 5,00,000

(D) ¥ 10,00,000
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48.

49.

The aggregate limit for the

deduction for interest on housing
loan used for purchase and repairs

of a self-acquired house property for

AY. 14-151s .coovieeeenns .
(A) T 30,000

(B) ¥ 1,50,000

(C) T 1,80,000

(D) No limit

A purchased 100 equity shares of a
listed company in Dec. 2012 for
T 50,000. He receives 100 bonus
shares of that company in Feb.,
2014. He sells all 200 shares through
Stock Exchange in Dec. 2014 for
¥ 60,000. The taxable capital gains
will be :

(A) T 10,000
(B) % 30,000
(C) ¥ 5,000

(D) Nil

48.

49.

MAY - 50316/I11—B

R BET 9 X GORIT hidl BAeied hsier

o N

feciedT SATST=AT TehfaId aSTae= Hafel
(TTd = e SREa)
3Te.

(A) % 30,000
(B) ¥ 1,50,000
(C) ¥ 1,80,000

(D) HIUrE AT AR

‘A’ ¥ TSR ISR W1 AiQUgd
T 100 T X 50,000 o1 fed. 2012

e TG hel. A T B Thglal]
2014 99 100 999 g Hesrel.
Td 200 T R &ed fedsk 2014

75y ¥ 60,000 & fahel. o1 FEeR@

AT WTSact! T
(A) T 10,000
(B) T 30,000
(C) % 5,000

(D) =
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50. X, HUF receives a gift of ¥ 51,000

51.

from a relative of Mr. X. The taxable

amount 1S ................. .

(A) % 51,000

(B) ¥ 1,000

(C) % 25,000

(D) Nil

Deduction u/s 80 TTA is available

in respect of interest earned from

Bankon ...cccouveenn. .

(A) Savings Account

(B) Fixed Deposit Account

(C) Recurring Deposit Account

(D) Cash Certificate

50.

51.

MAY - 50316/I11—B

‘X' (HUF ) ohdl 9ren ‘X' =1 idemeehl-

% ¥ 51,000 F&E A, T

(A) T 51,000
(B) T 1,000
(C) T 25,000
(D) T

FHAT 80 TTA AT denehgd fHesuI=l

TeAdsh!  H3edl  ANMER  Feee

Hesd .

(A) s=d @

(B) Had o4

(C) 3Tadid 3d

(D) WG FHOTIA
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52.

53.

The due date for filing income
tax returns to a company subject
to domestic transfer pricing audit

1S e, )

(A) 31st July

(B) 30th September

(C) 30th November

(D) 31st December

The companies carrying on business
are required to file their return of

income in Form No. ....ccoovnvennenn.e. .

(A) ITR-1

(B) ITR-2

(C) ITR-5

(D) None of the above

52.

53.

MAY - 50316/I11—B

= HYAAT AT I ATGRTEA

TRAHE YTSHT T Geror shid AT

TRl 3R faaorasr=n  31faq

(A) 31 S
(B) 30 @R
(C) 30 Tga

(D) 31 fedr

/U] HLOM=AT Sh a1 H AT

foreIuTas SRV THAAG Wd AFTd ?

(A) 3TF.3.3T.-1

(B) 3T9.21.3T.-2

(C) 3TI.2.3T.-5

(D) SRIeUeh! HIvE! T8l
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54. Deduction u/s 80 E in respect of

55.

payment of interest on education
loan is available to education

beyond .................... .

(A) 10th standard

(B) 12th standard

(C) Graduation

(D) Primary education

X owns two houses. Both are self-
occupied. What is the limit for
interest deduction on having loan in
respect of deemed let out of

property ? (AY. 2014-15)

(A) ¥ 30,000

(B) ¥ 1,50,000

(C) % 2,00,000

(D) No limit

MAY - 50316/I11—B

54. s 80 E Aavia THeomardt Saciean

55.

ShSlioiel TSIl Eeltel  TIT8ToTeR Ll

ESIECAREC:

(A) 105t = fgo
(B) 127 Fat= ferem
(C) ugegx feramm
(D) wMesT fReron

X' g R eed. Sl €W T

STOETS! STTEd. ATSITedld HIHTel WA=l

BHEEGERS IS b{{ch\rf YA T AT

geaert qarel fandl 2 (STt faui

I8 2014-15) :
(A) % 30,000

(B) % 1,50,000
(C) % 2,00,000

(D) TateT el
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56.

57.

Cost of intangible fixed assets are
.................. over their useful lives.
(A) Depreciated

(B) Amortised

(C) Charged

(D) Allocated

Consider the following statements
with the help of alternatives given

below :

Secret reserves serve the purpose

of :

(1) Enabling the directors to tide

over unfavourable items.
(2) Meeting exceptional losses.
(3) Increasing the working capital.

Which of the following statements

are correct ?

(A) (1) and (2) are correct
(B) (2) and (3) are correct
(C) (1) and (3) are correct

(D) (1), (2) and (3) are correct

56.

57.

MAY - 50316/I11—B

Fd fad Aem TE e U

(A) oAl
(B) FSThe T
(C) 9

(D) fawrfsia

el SR STt fociean qafan STeam

fo=mma =1

R E TG | T

(1) HAERAT STIOgeR L1 3T

HTT01.

(2) SAYAGIHS TIET Y& HIgUl.

(3) Tl STl @ vl
WA hIaE aeR Ara 3TRd 2
(A) (1) 9 (2) SRR AT

(B) (2) @ (3) SRR 2T&ed

(C) (1) & (3) =R 37&a

D) (1), (2) T (3) SR A
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58. Which one of the following

59.

accounting equation is correct ?

(A) Assets = Owner’s Equity

(B) Assets = Liabilities + Owner’s
Equity

(C) Assets = Liabilities — Owner’s
Equity

(D) Assets + Liabilities = Owner’s
Equity

Financial instruments are useful

for :

(A) Creating benefits for Govt.

(B) Providing credit creation for

Banks

(C) Mobilization of savings

(D) For creating direct securities

58.

59.

MAY - 50316/I11—B

AN A N N ~ ~ o
CllAlddlenl onllld dellenHld AHIn Y]

T 3R ?
(A) ATAHAT = @ THYN
(B) OCHET = oIdl + & THUM

(C) HH™T = S9dl — W THYT

(D) AHAT + <Idl = W@ TAYN

o (al

ENIE

N0

chedl S{Idld ¢

HeH IS8T =ifard

(A) THRERT ®wEel o o

(B) Sk qaffHd=n d¥qg o

(C) J=dig I <0

(D) Joa& wiasm
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60.

61.

The first attempt to value human

beings in monetary term was made

by :

(A) William Petty
(B) William C. Pyle
(C) Shultz

(D) Morese

Consider the following statement
with the help of alternatives given

below :

A mutual fund helps the investor in

securing :

(1) Professional Management
(2) Diversification of risk

(3) Steady appreciation

(4) Lower cost of operation

Which of these statements are

correct ?

(A) (1), (2), (3) and (4)
(B) (1), (2) and (4)

(C) (2) and (3)

(D) (3) and (4)

60.

61.
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AHaTeN Hifs®h SR Jeaaftis

FLOAET GI G99 AT hedl

(A) faeom ot

(B) foogam 4t. u=«

(C) e
(D) ARH

Gt SR o1 @l feciedn g3t SRy

fo=ma =1

oo

R9d e ToweRHl Emeiid gRe < ¢

(1) e HTLTH

[a (S oS

(2) e fafasieno

(3) Teer Afugst

(4) TG ST T T h]

TTeAeieh! IV R IFT 3Ted ?
(A) (1), (2), (3) 3T (4)

(B) (1), (2) =for (4)

(C) (2) =nfor (3)

(D) (3) =wfur (4)
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62.

63.

The price specified in the option
contract which means the underlying
asset to be purchased or sold by the

buyer/holder is known as :
(A) Strike price

(B) Exercise price

(C) Stock Exchange price
(D) Cost price

An investor with a low risk
preference should be advised to

invest in :

(A) Turn around stocks and aim at

short-term gains

(B) Emerging blue chips and aim

at medium-term gains

(C) Speculative stocks and aim at

short-term gains

(D) Super stocks and aim at long-

term gains

MAY - 50316/I11—B

62. AT FHINT FKd sholell fohHd TS

o ~

TRIGR § foshdl Ar=ARST SR

63. HH SEHET THd ST [Aaveh-

SNIET TqaUehil STE Hoell @El

(A) YRS 91681 Jeod  STeTHgdrd

HEIE &

(B) 7419 (Blue Chip) T[T o

AEIqHEE BEaE 2

(C) Herge et Hial 9 STeqggdld

FEIE &

(D) 399 J© I e wREEE 2

32



64. The department under which the

65.

manager has control over revenues,

expenses and the amount invested

in asset centres is known as ............ .

(A) Profit centre

(B) Cost centre

(C) Investment centre

(D) Revenue centre

Lease financing is :

(A) A sale of goods to the lessee

(B) It is a hire of goods on rent

(C) It is a transfer of ownership

(D) It is a financing partnership

between lessor and lessee

MAY - 50316/I11—B

64. 3T WA i AU YT, TE o HIeAH™

65.

fal

SheTdiel Tqav[eh (ERH ATeR THE=m oTed

e 3 WU

(A) TR hg

(B) T g

(C) frewm &g

(D) W=t g

TR Taaqeael =/l .

[ (a) N

[dshl <n Ul

(A) YIEHEA TR

(B) 9e TS o =l

(C) AT ded TSl

o

(D) HIeTh 9 Yesh® Iid  foxid

qETERY
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66.

67.

Two companies, X Ltd. and Y Ltd.
go into liquidation to form a new

company, Z Ltd. It is a case of :

(A) Absorption

(B) External Reconstructions

(C) Amalgamation

(D) Demerger

A Certificate of deposit is a :

(A) Fixed deposit in a bank

(B) Short-term negotiable instruments

in bearer form

(C) A promissory note to pay a sum

of money to the issuer

(D) It is a government treasury

bill

66.

67.

MAY - 50316/I11—B

o el N MY

XY I A Hu=n fagfsta g

7 Taret e HUAl T hell. §
3Qedll

INREEES

(B) =@ e

(C) HAEeH

(D) fawaieRLo

JHOMOS U

& N\

(A) &

NI REEREE

(B) 9Reh TEEUA TR Holg

(C) BUM=ATAT UMl ThH 2 UTH

(D) TR SThIogS
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68.

69.

Floating rate bonds :

(A) These bonds are issued in small

parts of the total bond

(B) These bonds are ‘American

Depository Receipt’

(C) These bonds are also called

‘Drop Lock Bonds’

(D) These bonds are also called

‘Floating Rate Notes’

The process of managing the sales
ledger of a client by a financial

service company is called :

(A) Forfeiting

(B) Factoring

(C) Leasing

(D) Securitisation of debt

MAY - 50316/I11—B

68. Hheld W :

(A) 8 T YOREr=a deM 9rd

~

qdl

d hel AT

(B) 3/ U ‘ 3Tfieh 3a Uraren’ 19drd

(C) 318 UweT T Ak a2 3™ qU

Burard’

(D) 378 WA HhHeusl 3T TO7 T

69. faxita qan qeaom=a YHEaE STRie foght

Edosl FIEAI Yfhan BN :

(A) THEAA

(B) ®eRdT

(C) HIEUgt

(e ha¥ (a)

(D) helia TR
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70.

71.

Interest rate risk :

(A) is also referred to as inflation
risk

(B) is affected by changes in social
attitudes

(C) is affected by changes in
lending ratio

(D) is affected by changes in the

business cycle

Which is not a primary buying

motive ?

(A) Food and Drink

(B) Comfort

(C) Attraction of opposite sex

(D) Lifestyle

70.

71.

MAY - 50316/I11—B

TSR SEd

(A) wEETEE! Sied B[ fAeeid shett
S

(B) WS §RI%M dgaren qRomd

(C) IR SIgeren gRom

(D) SHATIREA agaran qRomd

RO BREET WAHE  Fhed  (7q)

w2

(A) 3T T o

(B) gfaen

(C) fowgy fam smepsvr

(D) STt
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72.

73.

Which of the following is not a

marketing factor ?

(A) Consumer market

(B) Area of market

(C) Durability

(D) No. of customers

The term social marketing refers

170 JOOUUUOR .

(A) New product development and

sales for society

(B) A philosophy that emphasizes on

customer value and satisfaction

(C) A philosophy that stresses on

customer delightment in society

(D) A philosophy that emphasizes
on customer satisfaction and

welfare of the society at large

72.

73.

MAY - 50316/I11—B

TTeAteTdehl 10T faquH T2 A& 2

(A) Ugsh WK

(B) SIRES

(C) feshrsaon

(D) W&k &

TSt faquE & |- womEr gy

2 ?

(A) GHNIES 69 3care fasrrg 3o

fersnt

(B) & aoTH YEhHH d HHATHER WX

<

(®)) Kl Azl SR SIGIIG ‘/IIE>°hi"II 3T

Y <0 W <

(D) S A Uk FHIEM ST Telehy

ISR ShedTuMeaR. X é%f
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74.

75.

Which of the following is not macro-

marketing environment ?

(A) Economic

(B) Social and cultural

(C) Customers

(D) Technological

.................. is the concept of marketing

that holds consumer will prefer those

products that offer the most quality

or performance.

(A) Product concept

(B) Production concept

(C) Selling concept

(D) Consumer-oriented concept

74.

75.
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TeAeTden! IV TR fTquE arameRo
2

(A) afeies

(B) Wit 9 WiEhideh

(C) TEH

(D) ik

.................... N S Q.S

RN a9 Uew STvAE SR
I Al 1 S ATk T[orE fohan

HEfagT Iam.

(A) & Fhodl

(B) 3cIEH Geheddl

(C) fas! Heredmn

(D) faUum Hereum

38



MAY - 50316/I11—B

ROUGH WORK

39 [P.T.O.



MAY - 50316/I11—B

ROUGH WORK

40



